Name __________________________________________________

Quiz #9, Math 104, Summer 2007

1. Solve the inequality and write your solution in interval form.
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2. Solve the inequality and write your solution in interval form.
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3. Sketch the graph of the quadratic function.  Label the vertex, the x- and y-intercepts, and the axis of symmetry for the equation 
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Axis of symmetry:

Vertex:

x-intercept(s):

y-intercept:






4. Without graphing, determine whether the equation 
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 opens upward or downward, its vertex and whether it has a maximum or a minimum and its value, along with its x- and y-intercepts.
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